
SAP ABAP table ROIJNE {OIL-TSW: Internal Table - TSW Event}

ROIJNE

CLIENT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

TYPE [CHAR (4)]

DOC_TYPE [CHAR (1)]

OIJNOMH

MANDT [CLNT (3)]

NOMTK [CHAR (20)]
 ROIJNE-NOMTK = OIJNOMH-NOMTK 0..N

0..N

OIJNOMI

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

NOMIT [NUMC (10)]

 ROIJNE-NOMIT = OIJNOMI-NOMIT 0..N

0..N T000

MANDT [CLNT (3)]

 ROIJNE-CLIENT = T000-MANDT 
0..N0..N

TOIGE

CLIENT [CLNT (3)]

TYPE [CHAR (4)]

 ROIJNE-TYPE = TOIGE-TYPE 

0..N

0..N

TOIGED

CLIENT [CLNT (3)]

DOCTYPE [CHAR (1)]

 ROIJNE-DOC_TYPE = TOIGED-DOCTYPE 

0..N

0..N


